Summations

Today's Plan:

Learning Target (standard): | will estimate the area under a curve using
Riemann sums.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will. Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

Estimate the area under y = x* + 2 on the interval [1,3].
Use 4 right-endpoint rectangles.
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Summations

Estimate the area under y = x* + 2 on the interval [1,3].

Use 4 mid-points. Ax=b-o_ -‘3;| s
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C is the correct choice.

smnappr_oxin_mﬁmoffﬂx)dx with 4 subintervals of equal length 2
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F|nd the sum
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Find the sum:
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Sum Formulas:
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Sum Formulas:
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Sum Formulas:
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Properties of Summations:
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Assignment:
p.214 #1-10

#17 - set up to area of rectangle
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